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CET2E ] I35 4EE (BT4AEAHIE NS SFGESHSIAET) ICAREUET) LA XITREUET)
T RIALOHE,  TEEZE] IZRHMEE (BM44E3H31H) £ TICEEWET) LETH D,

(ZBRAE10ALLE]
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TRER| ORER| AR | ZREK| OB AR |ZRER| AREKR| Ak
H AR AL 1 e k= P AR 37 37| 100.0 34 34| 100.0 3 3| 100.0
H AR ik e — 2 N )L HE P A 34 34 100.0 33 33| 100.0 1 1| 100.0
AR LR T 34 34 100.0 34 34| 100.0 0 0 0.0
VNI D E LA L P A 32 32 100.0 32 32| 100.0 0 0 0.0
TV 7 E R AL AL 31 31| 100.0 31 31| 100.0 0 0 0.0
B AR 7 30 30| 100.0 29 29 100.0 1 1| 100.0
RSB Ak B P A 29 29 100.0 28 28| 100.0 1 1| 100.0
HBEREUEDL v (N HEEALR) 29 29| 100.0 28 28| 100.0 1 1| 100.0
B P TR R R 7 P 2 R e A 28 28| 100.0 27 27| 100.0 1 1| 100.0
KGR AL P A T2 28 28| 100.0 28 28| 100.0 0 0 0.0
IR - R 27 27 100.0 27 27| 100.0 0 0 0.0
BB EREAER T 27 27| 100.0 26 26| 100.0 1 1| 100.0
HALSCHOR PRI R 7 26 26 100.0 26 26| 100.0 0 0 0.0
AEHRE ST fE AR 26 26 100.0 25 25| 100.0 1 1| 100.0
& K5 25 25 100.0 25 25 100.0 0 0 0.0
[E] BRI PR R 24 24 100.0 24 24| 100.0 0 0 0.0
i) JRk N2 K SR A R 24 24 100.0 24 24| 100.0 0 0 0.0
o e Ry IR A i 24 24| 100.0 22 22 100.0 2 2| 100.0
R =T AL HH R A AL 5 P 2 24 24| 100.0 23 23| 100.0 1 1| 100.0
SR F 23 23| 100.0 23 23| 100.0 0 0 0.0
SRR 23 23 100.0 23 23| 100.0 0 0 0.0
LR 9l T A AL R P A 21 21 100.0 20 20 100.0 1 1| 100.0
WIERY: 21 21 100.0 21 21| 100.0 0 0 0.0
B MAR— R SR AR AL B AR 20 20 100.0 19 19| 100.0 1 1| 100.0
PR B R A L B PR 2 20 20( 100.0 19 19| 100.0 1 1| 100.0
A ARk B R 19 19| 100.0 19 19| 100.0 0 0 0.0
ORI 8 3 P B A A 7 P e 1 e 18 18| 100.0 18 18| 100.0 0 0 0.0
o] o a9E S RN = 18 18| 100.0 17 17| 100.0 1 1| 100.0
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
AAtE SR 18 18| 100.0 18 18| 100.0 0 0 0.0
EEN Y NES 18 18| 100.0 18 18| 100.0 0 0 0.0
5 N R FLI R 17 17| 100.0 17 17| 100.0 0 0 0.0
EBRE N R T H AR 17 17| 100.0 17 17| 100.0 0 0 0.0
i AT AR A R P AR 17 17| 100.0 16 16| 100.0 1 1| 100.0
JEB I I R PR AR A R P AR 16 16| 100.0 16 16| 100.0 0 0 0.0
EERZES @y 16 16/ 100.0 15 15| 100.0 1 1| 100.0
BRI VANT 7— R 16 16| 100.0 16 16| 100.0 0 0 0.0
R @ AL DD I 16 16| 100.0 16 16| 100.0 0 0 0.0
FEIR SN NSy TR NS 16 16| 100.0 14 14| 100.0 2 2| 100.0
KHE LR 15 15| 100.0 14 14| 100.0 1 1| 100.0
AR R T 15 15| 100.0 14 14| 100.0 1 1| 100.0
e BN R 15 15/ 100.0 15 15| 100.0 0 0 0.0
PP R 15 15| 100.0 15 15| 100.0 0 0 0.0
H PR 15 15| 100.0 15 15| 100.0 0 0 0.0
FEHE A RIIR T 14 14| 100.0 14 14| 100.0 0 0 0.0
U A AR R P s 14 14| 100.0 14 14| 100.0 0 0 0.0
ER ) PN 14 14| 100.0 14 14| 100.0 0 0 0.0
At ] [ 0 B AR AL B P AR 14 14| 100.0 13 13| 100.0 1 1| 100.0
HEBERY 14 14| 100.0 14 14| 100.0 0 0 0.0
YMCAKT- @ AL A 14 14| 100.0 14 14| 100.0 0 0 0.0
RO i@k o PP 13 13| 100.0 13 13| 100.0 0 0 0.0
JUM RS IR (RS RHE AL ) 13 13| 100.0 13 13| 100.0 0 0 0.0
FES A aE P A 13 13| 100.0 13 13| 100.0 0 0 0.0
AR T B AL B A (S SRR 13 13| 100.0 13 13| 100.0 0 0 0.0
V=X VT — T B R 13 13| 100.0 13 13| 100.0 0 0 0.0
[EpIR) PNe 13 13| 100.0 13 13| 100.0 0 0 0.0
CINGTITES 3 R NE S 8 N | 13 13| 100.0 12 12| 100.0 1 1| 100.0
i B R A MR R P AR 13 13| 100.0 12 12| 100.0 1 1| 100.0
IGLIE AL R P A% 12 12| 100.0 12 12| 100.0 0 0 0.0
KINE AR A% 12 12| 100.0 11 11| 100.0 1 1| 100.0
KIS AR AL T ALK 38 12 12| 100.0 12 12| 100.0 0 0 0.0
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
LAEADBAFIK 12 12| 100.0 12 12| 100.0 0 0 0.0
e va [E B OR 12 12| 100.0 12 12| 100.0 0 0 0.0
BRI L R A L o 12 12| 100.0 9 9| 100.0 3 3| 100.0
TEE (L7 B PR B AR AL B e 12 12| 100.0 12 12| 100.0 0 0 0.0
Rl EFER: 12 12| 100.0 12 12| 100.0 0 0 0.0
R B AR AR 12 12| 100.0 12 12| 100.0 0 0 0.0
BN R 12 12| 100.0 12 12| 100.0 0 0 0.0
AVRE S 7PNE = 58 i PN St 12 12| 100.0 11 11| 100.0 1 1| 100.0
PEFORE Ak B PR 22 A 12 12| 100.0 11 11| 100.0 1 1| 100.0
TV ERR AR AL R 11 11| 100.0 11 11| 100.0 0 0 0.0
)Y MIC A [ 5 22 R B P 22 11 11| 100.0 11 11| 100.0 0 0 0.0
R SRR P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
RIF RN B A AR B PR TR 11 11| 100.0 11 11| 100.0 0 0 0.0
[E] BRI PR Al R R 11 11| 100.0 11 11| 100.0 0 0 0.0
3T E L R 11 11| 100.0 11 11| 100.0 0 0 0.0
Loy i a3 P s 11 11| 100.0 9 9| 100.0 2 2| 100.0
B IR AR Y B P A 11 11| 100.0 11 11| 100.0 0 0 0.0
B R[5 A PR P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
i B R K 11 11| 100.0 10 10| 100.0 1 1| 100.0
EIRE Y R ABUCEALR T A% 10 10| 100.0 5 5| 100.0 5 5/ 100.0
K HH R A = P A5 10 10| 100.0 10 10| 100.0 0 0 0.0
KIFHR B AR AL T AL REAE 10 10[ 100.0 9 9| 100.0 1 1| 100.0
JEE I S [EIBR R 10 10| 100.0 10 10| 100.0 0 0 0.0
FLIRE = - B il Aol g B =P A 10 10| 100.0 10 10| 100.0 0 0 0.0
FlRF O R T 10 10/ 100.0 10 10| 100.0 0 0 0.0
INGIESE NG S 10 10| 100.0 10 10| 100.0 0 0 0.0
IR B @ P e (IR B ) 10 10| 100.0 10 10| 100.0 0 0 0.0
FAAR A R R P AR 10 10| 100.0 10 10| 100.0 0 0 0.0
XY MCA R AL P 2R 42 41| 97.6 35 34 97.1 7 7| 100.0
NN ey NES 32 31 96.9 27 27| 100.0 5 4| 80.0
SRR R R P S 32 31 96.9 29 28| 96.6 3 3| 100.0
(VN R I NES 32 31 96.9 31 30  96.8 1 1| 100.0
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
ot ot B LR R @ AL BT A 30 29| 96.7 28 27| 96.4 2 2| 100.0
fili5 R ER AL P AL 28 27| 96.4 24 23| 95.8 4 4| 100.0
AV AT =R AL e 27 26|  96.3 27 26| 96.3 0 0 0.0
R Pt Ak o P A 47 45| 95.7 45 44| 97.8 2 1| 50.0
DL [T [ A L B P A 23 22| 95.7 18 18| 100.0 5 4| 80.0
P55 22 21| 95.5 19 18| 94.7 3 3| 100.0
R ERE 22 21| 95.5 22 21| 95.5 0 0 0.0
IR NS 22 21| 95.5 18 17| 94.4 4 4| 100.0
RIS 5 e fE R P AR 22 21| 95.5 19 19| 100.0 3 2| 66.7
A 2R R 21 20 95.2 20 19|  95.0 1 1| 100.0
FUNHRIAEY T — a5t 41 39| 95.1 39 371 94.9 2 2| 100.0
o 5 P A A B P A e 40 38|  95.0 35 33| 94.3 5 5/ 100.0
R [ Al T A AL B P A 19 18| 94.7 17 17| 100.0 2 1| 50.0
TR ISR AL AR 19 18]  94.7 19 18|  94.7 0 0 0.0
H: FH A A8 kB P A 19 18| 94.7 19 18|  94.7 0 0 0.0
PAAUTRAEAE R P AR 18 17| 94.4 17 17| 100.0 1 0 0.0
TEE R AR A 18 17 94.4 16 16| 100.0 2 1| 50.0
GUYSRE SIS ER PR PN S 18 17| 94.4 17 17| 100.0 1 0 0.0
W PR AR A R R P AR 18 17 94.4 18 17| 94.4 0 0 0.0
IR T 7 X — R A 17 16|  94.1 16 15|  93.8 1 1| 100.0
AL PR R R 22 AR 17 16|  94.1 16 16| 100.0 1 0 0.0
LRGN 17 16|  94.1 15 15| 100.0 2 1| 50.0
SR R AR L R AR 50 47| 94.0 43 42| 97.7 7 5/ 71.4
[ L 25 P kB P AR 66 62| 93.9 63 61| 96.8 3 1| 33.3
FOSR BT R 16 15|  93.8 16 15| 93.8 0 0 0.0
RIFA T e A kB P PR B AR 16 15| 93.8 13 13| 100.0 3 2| 66.7
Tk A R P AR 16 15|  93.8 10 9  90.0 6 6| 100.0
OO ZHBE R AR FE 16 15  93.8 14 13| 92.9 2 2| 100.0
PRI A AR AL TP A 15 14| 933 15 14| 933 0 0 0.0
TR AL AR B 220 (R AR LR 15 14| 93.3 14 14| 100.0 1 0 0.0
FEtha SUH PR 15 14| 933 15 14| 933 0 0 0.0
HARA O R EHIK 14 13 92.9 13 12| 92.3 1 1| 100.0
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
KB EI B AL R P AR 14 131 929 13 12| 923 1 1| 100.0
HNEI#EZ LB R 2 14 13 92.9 11 11| 100.0 3 2| 66.7
HERS AR AR P 0 27 25 92.6 26 24| 92.3 1 1| 100.0
Ay 3 R AR AL R P A 27 25| 92.6 27 25| 92.6 0 0 0.0
B AN 7 — K AL P 2 26 24| 92.3 22 22| 100.0 4 2| 50.0
PSS SN & FE- PN S 13 12| 92.3 12 11| 91.7 1 1| 100.0
) LR P A 38 35 92.1 32 31| 96.9 6 4| 66.7
LS A P 25 5 3 1 S 2 25 23] 92.0 19 19| 100.0 6 4] 66.7
R AR Il R P AR 25 23 92.0 20 19/  95.0 5 4] 80.0
R R T Ak B P A KB 36 33| 91.7 34 32| 94.1 2 1| 50.0
BB AR AL PR B R P AR 24 22 91.7 17 15| 88.2 7 7| 100.0
JEL IR I8 2 - LR 12 11| 91.7 10 10| 100.0 2 1| 50.0
BHE A T 12 11| 91.7 5 5| 100.0 7 6| 85.7
Hr e e kR P AR 23 21| 91.3 19 19| 100.0 4 2| 50.0
W] AR AR B S A 44 40[  90.9 39 38| 974 5 2| 40.0
AEEE AL 2BCE P R 22 20/ 90.9 14 14| 100.0 8 6| 75.0
T[] PR AR LA — Y BEFH A 22 20[  90.9 17 17| 100.0 5 3| 60.0
FH (5] S AT 7l R 43 39 90.7 37 35| 94.6 6 4| 66.7
R G BR JAAE Aul FE I 2 A A o A 42 38| 90.5 34 331 97.1 8 5| 62.5
Bl SV e s S eI TEEAY 5 21 19| 90.5 20 18| 90.0 1 1| 100.0
R =T A AL DI oy A A B P 2 5 52 47 90.4 47 44| 93.6 5 3| 60.0
£ i BAR AL R SR 41 37 90.2 33 31 93.9 8 6| 75.0
[E R 20 18] 90.0 17 16|  94.1 3 2| 66.7
7 AR R AR 29 26|  89.7 26 25| 96.2 3 1| 33.3
(YN RPNV NE 19 17| 89.5 19 17| 89.5 0 0 0.0
7% BRI R 19 17| 89.5 15 14| 93.3 4 3| 75.0
S HETEEALE AR 19 17| 89.5 15 14| 933 4 3| 75.0
TR AR AL R P AR 46 411 89.1 34 33 97.1 12 8| 66.7
P IR AR KT 27 24| 88.9 19 19| 100.0 8 5| 62.5
e [ A kK 7 18 16| 88.9 13 13| 100.0 5 3| 60.0
FLRR H SR AR AL R P AR 18 16/ 88.9 15 14| 933 3 2| 66.7
Fak (Y MC A E Btk B 25 35 31| 88.6 26 25| 96.2 9 6| 66.7
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
RHERZAL B uE M AL 34 30 88.2 29 26| 89.7 5 4| 80.0
PR~ — AN AR AL P R 33 29|  87.9 31 28| 90.3 2 1| 50.0
DU ] R 7 7D 24 21| 875 23 20|  87.0 1 1| 100.0
2 R A SR SRR i () — S LT — 1 — ) 15 13 86.7 13 13| 100.0 2 0 0.0
et o] 1 R A R R P AR 15 13|  86.7 14 13| 92.9 1 0 0.0
BEFA R T U AR 44 38| 86.4 35 32| 91.4 9 6| 66.7
AR L Fe A 2 1 PR A 29 25| 86.2 22 20[  90.9 7 5/ 71.4
Bt ErE LR PR BT AR 55 47|  85.5 47 42| 89.4 8 5| 62.5
R/ AR TR P27 B 52 (O A ) 27 23| 85.2 27 23| 85.2 0 0 0.0
<HLERR A AL R 27 23|  85.2 22 20/ 90.9 5 3 60.0
JeREE L R A AL R P AR 27 23| 85.2 24 21| 87.5 3 2| 66.7
A Y T NES 33 28|  84.8 29 25| 86.2 4 3] 75.0
AR AT AR AL P AR 33 28| 84.8 31 26|  83.9 2 2| 100.0
SRSV 13 11| 84.6 12 11| 917 1 0 0.0
TR AR A B P 13 11| 84.6 13 11| 84.6 0 0 0.0
At He VR [ A A B P A 35 29| 82.9 29 26|  89.7 6 3| 50.0
HUAR R K AR R B B AR 64 53| 82.8 52 46|  88.5 12 7| 58.3
R PR E R AL - PR B R (e AL A 23 19 82.6 20 18 90.0 3 1 33.3
YICH i fa Ak BP9 17 14| 824 17 14| 82.4 0 0 0.0
BN AR AL R P 73 60| 82.2 66 53|  80.3 7 7| 100.0
S SN RN i 11 9] 818 10 9  90.0 1 0 0.0
BT AL B 27 (3l L7 11 9| 81.8 10 8|  80.0 1 1| 100.0
il B A AL B P AR 64 52| 81.3 55 49| 89.1 9 3| 33.3
RN 7 8] [ A AL B P A 45 36/  80.0 36 33 91.7 9 3 33.3
BERG S — 2L R P 6 (A SRR 30 24| 80.0 24 24| 100.0 6 0 0.0
8, R S P PR 20 16|  80.0 15 13| 86.7 5 3| 60.0
JEE I I AR O B P A% 15 12| 80.0 14 11| 78.6 1 1| 100.0
0 A B P AR 10 8| 80.0 10 8|  80.0 0 0 0.0
H e ke 2 R R P AR 10 8| 80.0 6 6| 100.0 4 2| 50.0
DU ] 7 8 K B P A 14 11| 78.6 11 10| 90.9 3 1| 333
R ZEbEaL vy 18 14| 77.8 18 14| 77.8 0 0 0.0
JA B R AR P AR (I R AR 26 20/ 76.9 21 18| 85.7 5 2| 40.0
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TRER| OER| AR | TRE| AEER| AR | ZHREK| ABEK| AtkER
K 2 [ f k3B B P AR 47 36| 76.6 41 34| 82.9 6 2| 33.3
REERALR T MR 38 29| 76.3 35 26|  74.3 3 3| 100.0
MR ANE YT — v a B kb 33 25| 75.8 24 24| 100.0 9 I 111
P AL S T (R R PR A ek A ) 57 43 75.4 51 40 78.4 6 3 50.0
[EPIR N PNE SR i PN 57 43| 75.4 42 34|  81.0 15 9  60.0
R AL SR (s ta 2R 88 66| 75.0 73 57| 78.1 15 9]  60.0
KRR BT 16 12| 75.0 15 12| 80.0 1 0 0.0
LA ALY 12 9| 75.0 9 8| 88.9 3 1| 333
FINEHR T 12 9| 75.0 8 8| 100.0 4 1| 25.0
BV F 2 @ AL B A 79 58|  73.4 64 46|  71.9 15 12| 80.0
BEESYMCA H B kR P s 15 11| 73.3 13 11| 84.6 2 0 0.0
s FE ] A b P A 26 19|  73.1 19 16| 84.2 7 3 42.9
B E AL ERE L 14 10| 714 10 10| 100.0 4 0 0.0
R R EH B 24 37 26| 70.3 33 25| 75.8 4 1| 25.0
A 36 25| 69.4 25 17| 68.0 11 8| 727
B PR m R B AL E R L 26 18|  69.2 21 17| 81.0 5 1| 20.0
B2 AE ALY Y — AT PR 13 9| 69.2 9 9| 100.0 4 0 0.0
T B AL R A 29 20(  69.0 26 19| 73.1 3 1| 33.3
JEJ 48 ik B P A5 58 39|  67.2 51 35| 68.6 7 4| 57.1
BB 30 20| 66.7 22 171 773 8 3| 375
BT LoD 12 8| 66.7 9 6| 66.7 3 2| 66.7
T J [ I A kR P AR 47 31| 66.0 42 30 71.4 5 1| 20.0
L) Z R B B0 O FRE 2 79 52|  65.8 64 45| 70.3 15 7| 46.7
BV PR B @ AL B A 35 23| 65.7 20 13| 65.0 15 10[  66.7
WA R AL P A 35 23| 65.7 34 23| 67.6 1 0 0.0
FE AR B A Ak B A% 34 22 64.7 26 19| 73.1 8 3| 375
OUET VT B AR P AR 17 11| 64.7 11 6| 54.5 6 5/ 83.3
SRS S PNE S PN S 59 38|  64.4 47 32| 68.1 12 6| 50.0
AR v = AR ALK S 42 27| 64.3 32 24| 75.0 10 3 30.0
FHRERKT 33 21|  63.6 25 14|  56.0 8 7| 875
IEDPNSE R ENZ eI G E= i 22 14|  63.6 14 10 71.4 8 4] 50.0
YAty R A 11 7| 63.6 4 3| 75.0 7 4] 57.1
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
KRR 2=T 40 — T — B 2R 49 31| 63.3 35 24|  68.6 14 71 50.0
HO LR BT AR 38 24|  63.2 22 19| 86.4 16 5| 31.3
e Lo [ R AR A R 2 35 22| 62.9 29 18| 62.1 6 4] 66.7
A5 N7 B AR 13 8| 61.5 7 7| 100.0 6 1| 16.7
HERY MCAE B Ak B 2L 15 9 60.0 14 9 64.3 1 0 0.0
P AR IR L >y 10 6| 60.0 10 6| 60.0 0 0 0.0
SRR PR ()t Ak L2 4R ) 79 47| 59.5 52 421 80.8 27 5| 185
TAES T AR AL P A 27 16|  59.3 16 11| 68.8 11 5| 45.5
YMCA e FEtEfk P A% 29 17| 58.6 18 13| 72.2 11 4| 36.4
R 2 e - B B B A FE A 38 22| 57.9 20 19| 95.0 18 3| 16.7
B A E R AL R L v 16 9| 56.3 8 6| 75.0 8 3| 375
IR OR B MR 42 23|  54.8 26 20| 76.9 16 3| 18.8
JUIN KRB FLIAR 5 (AL FE) 11 6| 54.5 8 6| 75.0 3 0 0.0
B E IR = VT — PR — ) 66 33| 50.0 66 33| 50.0 0 0 0.0
ZZAERE AL P PRSI AR 20 10| 50.0 14 5/ 35.7 6 5/ 83.3
e [ S EAR AR R P AR 16 8| 50.0 14 7| 50.0 2 1| 50.0
AR AR B A B A 10 5/ 50.0 9 5/ 55.6 1 0 0.0
KB B AL B 278 (A3l 27 48 23| 47.9 46 21| 45.7 2 2| 100.0
KIR HEAR ML A IR (3l A7) 32 15| 46.9 27 11| 40.7 5 4] 80.0
ZIAEFEAEE P AL 62 29|  46.8 51 24 47.1 11 5| 45.5
PN T s YR 81 37| 45.7 51 26|  51.0 30 11| 36.7
S YA P AR 29 13| 44.8 28 13| 46.4 1 0 0.0
Tt SR LR P AR 97 43| 44.3 52 29|  55.8 45 14| 31.1
HILNEL R 5 16 7| 43.8 10 5/ 50.0 6 2| 333
B A Ak B P 65 28|  43.1 29 20(  69.0 36 8| 22.2
AOIE BEEAL R 7L 45 19|  42.2 37 13| 35.1 8 6| 75.0
JE LE 5 S5 5 AR AL B P AR 12 5 41.7 9 3| 33.3 3 2| 66.7
M fE LR R BT AR 29 12| 41.4 28 12| 42.9 1 0 0.0
R LU B A LR AL B P A 34 14| 41.2 29 12| 414 5 2| 40.0
JONTTNES 58 P NE 78 32 41.0 60 28|  46.7 18 4| 22.2
EHEE S Y AP ES VRS 59 24| 40.7 45 21| 46.7 14 3l 214
75 B AR 67 26| 38.8 50 21| 42.0 17 5/ 29.4
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
Ve B R 50 19|  38.0 31 10 323 19 9| 47.4
FOER L 2 f AL B P A 55 20|  36.4 44 14| 31.8 11 6| 54.5
PR il - B R AL R B 33 12|  36.4 22 9|  40.9 11 3| 27.3
= BT EE AL e e 72 26/  36.1 57 24 42.1 15 2| 13.3
1 AR A 36 13| 36.1 23 7| 30.4 13 6| 46.2
AT A AT — [ FREAL L A 57 20| 35.1 31 16| 51.6 26 4| 15.4
PR IRRALIL Y (e ISR 39 13| 33.3 36 12| 33.3 3 1| 333
PRMETE R R A 32 9| 28.1 14 6| 42.9 18 3| 16.7
VU H e fk B P AR 61 171 27.9 34 15| 44.1 27 2 7.4
T TR 35 9] 25.7 35 9| 25.7 0 0 0.0
S o ] S PR T AL B P A 12 3| 25.0 8 2| 25.0 4 1| 25.0
FUPN B PR AR — 7 B 4 104 22| 21.2 49 17| 34.7 55 5 9.1
S<HIRE B AR 46 9] 19.6 39 9 23.1 7 0 0.0
AAZ &b AL A 26 4| 15.4 26 4| 15.4 0 0 0.0
HETH AR AE R P AR 34 5| 14.7 16 4| 25.0 18 1 5.6
UV Ty B EEAR 21 3| 14.3 14 1 7.1 7 2| 28.6
BT E B AL T L > Y 40 5/ 12.5 32 4| 12,5 8 1| 125
BRIEEIFR IR E Y R A A 21 2 9.5 21 2 9.5 0 0 0.0
=% e 22 2 9.1 9 2| 222 13 0 0.0
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
RELAKF 9 9| 100.0 8 8| 100.0 1 1| 100.0
R PR AR E R AL - PR B R (RES AR AL AL 9 9 100.0 9 9 100.0 0 0 0.0
GV S ey N 9 9| 100.0 9 9| 100.0 0 0 0.0
AU RAER 9 9| 100.0 9 9| 100.0 0 0 0.0
INSSE O NES 9 9| 100.0 9 9| 100.0 0 0 0.0
~ B =T R AL R AR 9 9| 100.0 9 9| 100.0 0 0 0.0
(LAL UL ANT K 9 9| 100.0 9 9| 100.0 0 0 0.0
RYFALVE T =P A 8 8| 100.0 7 7| 100.0 1 1| 100.0
FIF RTINS R A AL (5 75 R 2448 P A 8 8| 100.0 8 8 100.0 0 0 0.0
HETE TR 8 8| 100.0 8 8| 100.0 0 0 0.0
PRI N IR AR AR AR 7 8 8| 100.0 8 8| 100.0 0 0 0.0
[E] PR = R AL B P AR B RAR 8 8| 100.0 6 6| 100.0 2 2| 100.0
R ZE S « BRI - A3 B P 8 8| 100.0 8 8| 100.0 0 0 0.0
NS SN 7 7| 100.0 6 6| 100.0 1 1| 100.0
FIAf B R 7 7| 100.0 6 6| 100.0 1 1| 100.0
HORL =R E AL P AL 7 7| 100.0 7 7| 100.0 0 0 0.0
B S Ne 7 7| 100.0 7 7| 100.0 0 0 0.0
EFARF: 7 7| 100.0 7 7| 100.0 0 0 0.0
IR TN 7 7| 100.0 7 7| 100.0 0 0 0.0
FHE IR 6 6| 100.0 6 6| 100.0 0 0 0.0
B8 LR R 6 6| 100.0 6 6| 100.0 0 0 0.0
i LRl R 6 6| 100.0 6 6| 100.0 0 0 0.0
V) —Z 8 & AR — YV B % 6 6| 100.0 6 6| 100.0 0 0 0.0
OSJL LT T A7 — )L 5 5/ 100.0 5 5 100.0 0 0 0.0
JUPN Pt fl R 5 5| 100.0 5 5| 100.0 0 0 0.0
WO A R 5 5| 100.0 5 5/ 100.0 0 0 0.0
WAL ST b R 5 5| 100.0 5 5/ 100.0 0 0 0.0
B I EFRE AL P AR 5 5| 100.0 4 4| 100.0 1 1| 100.0
FEAERFEIR T 5 5| 100.0 5 5/ 100.0 0 0 0.0
KRR AT [ Ji W P SR A B 4 4| 100.0 4 4] 100.0 0 0 0.0
- B L K7 4 4| 100.0 4 4| 100.0 0 0 0.0
BB L2 K 4 4| 100.0 4 4| 100.0 0 0 0.0

(1~32%)




A, ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
WHL)F KT 4 4| 100.0 3 3| 100.0 1 1| 100.0
KT 4 4| 100.0 4 4| 100.0 0 0 0.0
SLATEAE TP 4 4| 100.0 4 4| 100.0 0 0 0.0
EAETHT AR —Y EPRFEEH ML 4 4| 100.0 3 3| 100.0 1 1| 100.0
AR PR 3 3| 100.0 3 3| 100.0 0 0 0.0
fi] [L RS2 R 3 3| 100.0 3 3| 100.0 0 0 0.0
LN B AL R 3 3| 100.0 3 3| 100.0 0 0 0.0
e SN S 3 3| 100.0 3 3| 100.0 0 0 0.0
AL R K7 3 3| 100.0 3 3| 100.0 0 0 0.0
) IO K (9 R 7 RO T R 720 3 3] 100.0 3 3 100.0 0 0 0.0
o P R AR E R AR 3 3| 100.0 3 3| 100.0 0 0 0.0
)G (= 9 R 2 2| 100.0 0 0 0.0 2 2| 100.0
BAVE f& AL 7 KT 2 2| 100.0 2 2| 100.0 0 0 0.0
S RANANES 2 2| 100.0 2 2| 100.0 0 0 0.0
2N A E O R AT L w Y 2 2| 100.0 2 2| 100.0 0 0 0.0
W E R R T 2 2| 100.0 2 2| 100.0 0 0 0.0
HU S S I T AR AL R P AR 2 2| 100.0 0 0 0.0 2 2| 100.0
REROUEEALR M F P 2 2| 100.0 2 2| 100.0 0 0 0.0
HHARERRR: 2 2| 100.0 2 2| 100.0 0 0 0.0
HIE LR 2 2| 100.0 2 2| 100.0 0 0 0.0
A E AL & B L Y 1 1| 100.0 0 0 0.0 1 1| 100.0
KB B 2 (A B AR 2R 1 1| 100.0 0 0 0.0 1 1| 100.0
KRBT K7 1 1| 100.0 0 0 0.0 1 1| 100.0
REARYMCAZPt 1 1| 100.0 0 0 0.0 1 1| 100.0
R AL (R AR 1 1| 100.0 0 0 0.0 1 1| 100.0
BB R 1 1| 100.0 0 0 0.0 1 1| 100.0
A E&ELTRY 1 1| 100.0 1 1| 100.0 0 0 0.0
PR AT o B P (il B PR AR A 1L ) 1 1] 100.0 0 0 0.0 1 1{ 100.0
H AR P () — 7 ) 1 1| 100.0 0 0 0.0 1 1| 100.0
I\ BT B i S R R 1 1| 100.0 0 0 0.0 1 1| 100.0
e LA ik B 1 1| 100.0 0 0 0.0 1 1| 100.0
KA AP e 1 1| 100.0 0 0 0.0 1 1| 100.0

(33~641%)




A, ___ " "
TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
VIR 2 O\ A R A T i ) 1 1| 100.0 0 0 0.0 1 1| 100.0
SRSy SR NES 8 7| 87.5 7 7| 100.0 1 0 0.0
KIFAR = AR RBALRE 4% 7 6| 85.7 6 6| 100.0 1 0 0.0
{EINIT AR AL RE P AR 7 6| 85.7 7 6| 85.7 0 0 0.0
HA 227 8 S AR 7 6| 85.7 6 5/ 83.3 1 1| 100.0
R SR P AR 6 5| 83.3 0 0 0.0 6 5| 83.3
A RN B R 9 7|1 77.8 9 71 77.8 0 0 0.0
KRBT A (HLHR 5 Jr AR 8 6| 75.0 7 5| 71.4 1 1| 100.0
S [ R A R P AR 8 6| 75.0 5 4| 80.0 3 2| 66.7
BrEaT LY 4 3| 75.0 3 3| 100.0 1 0 0.0
AL 2 B =P A 6 4] 66.7 4 4| 100.0 2 0 0.0
PNIE R e e SN 3 2| 66.7 0 0 0.0 3 2| 66.7
FE R G E R AR 3 2| 66.7 0 0 0.0 3 2| 66.7
(RN NE Y TR P NE 2 7 4| 57.1 6 4| 66.7 1 0 0.0
SOTRMERE PR (1t A1k 3 4R 6 3| 50.0 0 0 0.0 6 3| 50.0
BES /S — AR P25 (A B AL R 4 2| 50.0 3 2| 66.7 1 0 0.0
HOR [E B LR AR 2 1| 50.0 0 0 0.0 2 1| 50.0
1% U7 ERRAER AL B 6 2| 333 3 1| 333 3 1| 333
LI A o B R AR 4 1| 25.0 0 0 0.0 4 1| 25.0
N B T ERR T R R 5 1l 20.0 0 0 0.0 5 1| 20.0
AN R s 6 1| 16.7 0 0 0.0 6 1| 16.7
HO OB S SR AR AL R A 7 1| 14.3 6 1| 16.7 1 0 0.0
B R J R 1 0 0.0 0 0 0.0 1 0 0.0
R = I Ak = P P BOK AR 1 0 0.0 0 0 0.0 1 0 0.0
(65~88#%)

(&&T)

3t 7,784| 5,888 75.6] 6,484| 5,298 81.7] 1,300] 590| 45.4

(3594%)




o5 3 5 [ rRg @ pik - [E AR R BRI SR (G HRIE)
@AMV — b (BEELR R BRE)

[ERE) XA (BFAEAH LA ATSEIHIIAET) ICEEWET) LEF UIREIET) )
T 25 RiARDE ., TEER] iﬁllﬂir (B F45E3H31IH) FTIXHREUET) LIEEETH D,

(RFAEZ RV ZRE | 11X, HREZRELDINONEELHT 25 EE T, p
(ZBE10ALLE)
e ___ T "
TRER| ORER| AR | ZREK| OB AR |ZRER| AREKR| Ak
H AR AL 1 e k= P AR 37 37| 100.0 34 34| 100.0 3 3| 100.0
HAbREAER 34 34| 100.0 34 34| 100.0 0 0 0.0
T VT 7 EREAEAL R AL 31 31| 100.0 31 31| 100.0 0 0 0.0
VNI D E LA L P A 30 30/ 100.0 30 30/ 100.0 0 0 0.0
B PSP A 2 7 30 30/ 100.0 29 29 100.0 1 1| 100.0
BV F 2 @ AL B A 29 29 100.0 28 28 100.0 1 1| 100.0
HRERREALI L Y (I #fRaLRL) 29 29| 100.0 28 28| 100.0 1 1| 100.0
PN e R L s S 28 28| 100.0 27 27| 100.0 1 1| 100.0
RSB Ak P 27 27 100.0 26 26| 100.0 1 1| 100.0
BB ER AR 27 27| 100.0 26 26| 100.0 1 1| 100.0
FUNHRUAE YT — a5t 26 26| 100.0 26 26| 100.0 0 0 0.0
HALSCEOR RN R 5 26 26 100.0 26 26| 100.0 0 0 0.0
AEHRE ST 3 fE LA 26 26 100.0 25 25 100.0 1 1| 100.0
KRG AR B AL P A T2 25 25| 100.0 25 25 100.0 0 0 0.0
& K5 25 25 100.0 25 25 100.0 0 0 0.0
HULYMCA EF AR LR 225 25 25 100.0 25 25 100.0 0 0 0.0
SRR R R S 24 24 100.0 22 22 100.0 2 2| 100.0
[ A NE = T e 24 24| 100.0 24 24| 100.0 0 0 0.0
IR R A R 24 24 100.0 24 24| 100.0 0 0 0.0
R =T AL HH 2 AR AL B P 2 24 24| 100.0 23 23| 100.0 1 1| 100.0
il R R R A L R T AR 24 24 100.0 24 24| 100.0 0 0 0.0
SR F 23 23| 100.0 23 23| 100.0 0 0 0.0
[E] BRI SRR AL R 23 23 100.0 23 23| 100.0 0 0 0.0
SRR 23 23| 100.0 23 23| 100.0 0 0 0.0
P IR AR KT 22 22| 100.0 19 19| 100.0 3 3| 100.0
SR S PNE S PN S 22 22 100.0 22 22 100.0 0 0 0.0
LR 2 8l T A AL B P A 21 21 100.0 20 20( 100.0 1 1| 100.0
H AR ik e — N )L HE P A 21 21 100.0 21 21| 100.0 0 0 0.0

(1~281%)



A, ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
WIERY: 21 21 100.0 21 21| 100.0 0 0 0.0
Hr e e kR P AR 20 20( 100.0 19 19| 100.0 1 1| 100.0
S Bt SR bR P AR 20 20( 100.0 20 20( 100.0 0 0 0.0
P B R R AR A B P AR 20 20 100.0 19 19| 100.0 1 1| 100.0
L) VS TR A B P 2 75 |3 o /S 2 19 19| 100.0 18 18| 100.0 1 1| 100.0
B MAR— R AR AL B AR 19 19| 100.0 18 18| 100.0 1 1| 100.0
H AR Ak AL R 19 19| 100.0 19 19| 100.0 0 0 0.0
ORI s LB A A7 T e 1 e 18 18| 100.0 18 18| 100.0 0 0 0.0
[ o R R NG 18 18| 100.0 17 17| 100.0 1 1| 100.0
EENGEE S PN 18 18| 100.0 18 18| 100.0 0 0 0.0
ERN T NES 18 18| 100.0 18 18| 100.0 0 0 0.0
ST S 3 A A B AR 18 18| 100.0 16 16| 100.0 2 2| 100.0
MR ANE YT — v a B kb 17 17| 100.0 17 17| 100.0 0 0 0.0
1 IR R LR % 17 17| 100.0 17 17| 100.0 0 0 0.0
DA AUTRAEAEEE P S 17 17| 100.0 17 17| 100.0 0 0 0.0
EBRE N R E H 7K 17 17| 100.0 17 17| 100.0 0 0 0.0
T[] PR AR LA — Y BEFH A 17 17| 100.0 14 14| 100.0 3 3| 100.0
JEB I I R PR AR A R P AR 16 16| 100.0 16 16| 100.0 0 0 0.0
EERZES @y 16 16/ 100.0 15 15| 100.0 1 1| 100.0
di I R AL R P A 16 16| 100.0 15 15| 100.0 1 1| 100.0
I VANT 7— K7 16 16 100.0 16 16| 100.0 0 0 0.0
R AR R o 16 16| 100.0 16 16| 100.0 0 0 0.0
FE RSN NSy TR L P NE 16 16/ 100.0 14 14| 100.0 2 2| 100.0
R = i k= P AR 16 16| 100.0 15 15| 100.0 1 1| 100.0
KHE &R 15 15| 100.0 14 14| 100.0 1 1| 100.0
0 R RN T R 15 15| 100.0 15 15| 100.0 0 0 0.0
Gl N2 15 15[ 100.0 15 15| 100.0 0 0 0.0
HE R HR 15 15| 100.0 15 15| 100.0 0 0 0.0
AEHRE AR LS P AR 15 15| 100.0 14 14| 100.0 1 1| 100.0
FEHE A7 RIIR T 14 14| 100.0 14 14| 100.0 0 0 0.0
U = A AR R P s 14 14| 100.0 14 14| 100.0 0 0 0.0
E R PN 14 14| 100.0 14 14| 100.0 0 0 0.0

(29~60#%)




e ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak

At ] [ I B AR A B P AR 14 14| 100.0 13 13| 100.0 1 1| 100.0
HEBERY 14 14| 100.0 14 14| 100.0 0 0 0.0
YMCAKT- @ AL A 14 14| 100.0 14 14| 100.0 0 0 0.0
RO i@k o P 2 13 13| 100.0 13 13| 100.0 0 0 0.0
JUM RS IR (RS R AL ) 13 13| 100.0 13 13| 100.0 0 0 0.0
FES A aE P A 13 13| 100.0 13 13| 100.0 0 0 0.0
AR T B AL B 24 (S SRR 13 13| 100.0 13 13| 100.0 0 0 0.0
AR AL P AR 13 13| 100.0 13 13| 100.0 0 0 0.0
V=X VT — 7 B 13 13| 100.0 13 13| 100.0 0 0 0.0
(PRI PNES 13 13| 100.0 13 13| 100.0 0 0 0.0
TL i ISR AT AR 2 P L Ak 13 13| 100.0 13 13| 100.0 0 0 0.0
CINGTIIES) 3 R NE S 58 N 13 13| 100.0 12 12| 100.0 1 1| 100.0
i B R A MR R P AR 13 13| 100.0 12 12| 100.0 1 1| 100.0
TR P46 ik 7P B i 2 (O S ) 12 12| 100.0 12 12| 100.0 0 0 0.0
AR EE R 12 12| 100.0 11 11| 100.0 1 1| 100.0
KIF SRS SR AL T ALK 38 12 12| 100.0 12 12| 100.0 0 0 0.0
LAEADBAFK 12 12| 100.0 12 12| 100.0 0 0 0.0
I va [E RO 12 12| 100.0 12 12| 100.0 0 0 0.0
TEE (L7 R R B AR AR R A 12 12| 100.0 12 12| 100.0 0 0 0.0
R B LR AR 12 12| 100.0 12 12| 100.0 0 0 0.0
BN R T 12 12| 100.0 12 12| 100.0 0 0 0.0
RNt P AR 12 12| 100.0 11 11| 100.0 1 1| 100.0
FOak 1LY MC A ] B3 k5 224 12 12| 100.0 10 10{ 100.0 2 2| 100.0
TV ERR AR AL R 11 11| 100.0 11 11| 100.0 0 0 0.0
RIREJFEAE AL R P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
KRIFFEFCE B R A EIR R ALE M 25 LR 11 11 100.0 11 11 100.0 0 0 0.0
e Lo S AR A R 2 11 11| 100.0 11 11| 100.0 0 0 0.0
3R A R 11 11| 100.0 11 11| 100.0 0 0 0.0
B IR AR AL R B P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
Rl [E B R 11 11| 100.0 11 11| 100.0 0 0 0.0
i R A PR P S 11 11| 100.0 11 11| 100.0 0 0 0.0
W R R R 11 11| 100.0 10 10| 100.0 1 1| 100.0

(61~924%)




A, ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
IGL AR AL P A 10 10| 100.0 10 10| 100.0 0 0 0.0
K H R P Bt 2 P A 10 10[ 100.0 10 10| 100.0 0 0 0.0
KRIFRTE B R AL P A REAR 10 10| 100.0 9 9| 100.0 1 1| 100.0
JEE ML B P AR BT B P A 10 10| 100.0 10 10| 100.0 0 0 0.0
JEE I S [EIBR R 10 10| 100.0 10 10| 100.0 0 0 0.0
JEL IR I8 2 - LR 10 10| 100.0 9 9| 100.0 1 1| 100.0
[ BRI HEF R Ak R AL 10 10| 100.0 10 10| 100.0 0 0 0.0
Loy i a3 P s 10 10| 100.0 9 9| 100.0 1 1| 100.0
FlRF O R T 10 10/ 100.0 10 10| 100.0 0 0 0.0
TF L o A AR R P AR 10 10| 100.0 9 9| 100.0 1 1| 100.0
VANRLES PN 58 i NS 10 10| 100.0 10 10| 100.0 0 0 0.0
TR IRES S AR = v 10 10| 100.0 9 9| 100.0 1 1| 100.0
IR Bt P e (IR B ) 10 10| 100.0 10 10| 100.0 0 0 0.0
f] L 25 Pk R P AR 54 53| 98.1 53 53| 100.0 1 0 0.0
KB AR A Ak = P A% 44 43| 97.7 43 42| 97.7 1 1| 100.0
fili& R AR AR R P AR 41 40[  97.6 40 39| 97.5 1 1| 100.0
INUYNEEEYNES 32 31 96.9 27 27| 100.0 5 4| 80.0
(VN R NES 32 31 96.9 31 30 96.8 1 1| 100.0
JH R = A AR R P s 31 30  96.8 27 26|  96.3 4 4| 100.0
B 1Ak B P AR 29 28| 96.6 26 25 96.2 3 3| 100.0
AV AT =R AL e 27 26|  96.3 27 26| 96.3 0 0 0.0
filiE R ER AL P AL 27 26/  96.3 24 23| 95.8 3 3| 100.0
ot ot B LR R @ AL BT A 26 25| 96.2 25 24| 96.0 1 1| 100.0
DU ] 2 i AL B P A 23 22 95.7 18 18| 100.0 5 4] 80.0
I R5s - FH OR 22 21|  95.5 19 18| 94.7 3 3| 100.0
TN 22 21| 95.5 18 17| 94.4 4 4| 100.0
A 22 R R 21 20 95.2 20 19/  95.0 1 1| 100.0
R 5 125 5l T8 AL B P A 19 18]  94.7 17 17| 100.0 2 1| 50.0
TR 7 FE SRR AR 19 18| 94.7 19 18|  94.7 0 0 0.0
B AN 7 — K AL P 24 19 18| 94.7 16 16| 100.0 3 2| 66.7
AR v =T AR AL R e 19 18] 94.7 18 17| 94.4 1 1| 100.0
[ AR 7 19 18| 94.7 16 16| 100.0 3 2| 66.7

(93~124#%)




e ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
W PR PR A U R P AR 18 17 94.4 18 17| 94.4 0 0 0.0
JBES AR AL R AR 17 16| 94.1 15 15| 100.0 2 1| 50.0
AL PR R R 22 AR 17 16|  94.1 16 16| 100.0 1 0 0.0
At He VR [ Rt AL B P A 17 16| 94.1 17 16|  94.1 0 0 0.0
SR R AR L R AR 49 46| 93.9 42 41| 97.6 7 5/ 71.4
o 5 P A A B P A e 32 30 93.8 29 27| 93.1 3 3| 100.0
FOSR BT R 16 15|  93.8 16 15| 93.8 0 0 0.0
RIFA T e A Ak B P PR B AR 16 15| 93.8 13 13| 100.0 3 2| 66.7
(O PNake = 17 NE Y TR i N i 16 15|  93.8 14 13| 92.9 2 2| 100.0
R AL SR (s ta 2R 30 28] 93.3 28 27| 96.4 2 1| 50.0
R~ — R AR AL P AL 30 28|  93.3 30 28|  93.3 0 0 0.0
IR T 7 — R P A 15 14| 93.3 14 13| 92.9 1 1| 100.0
PRI A AR AL TP A 15 14| 933 15 14| 933 0 0 0.0
B AR AL P A 15 14| 93.3 14 13 92.9 1 1| 100.0
i AL R Y 2 (R B a7 15 14| 93.3 14 14| 100.0 1 0 0.0
F e 5L 15 14| 93.3 15 14| 93.3 0 0 0.0
B EARALOR T PR P L 44 41| 93.2 41 38| 92.7 3 3| 100.0
HARA O R E K 14 13 92.9 13 12| 92.3 1 1| 100.0
KIR HEAR ML A IR (3l A7) 14 13| 92.9 11 10[  90.9 3 3| 100.0
R 5[] Bk B P AR 14 13 92.9 13 12| 92.3 1 1| 100.0
I AR AL R B P AR 14 131 929 12 12| 100.0 2 1| 50.0
FE AR B A Ak B A% 14 13 92.9 12 12| 100.0 2 1| 50.0
YICH i fa Ak BP9 A% 14 131 929 14 13| 92.9 0 0 0.0
P Y N TP NE S 27 25| 92.6 26 24| 92.3 1 1| 100.0
RHERFAL FAEnkE M AL 27 25 92.6 24 23| 95.8 3 2| 66.7
A Y T NES 27 25 92.6 25 23| 92.0 2 2| 100.0
AT S R S R B P AR 26 24| 92.3 25 24| 96.0 1 0 0.0
KRB SRR P AR 13 12| 92.3 11 11| 100.0 2 1| 50.0
PSS PN S F: PNt 13 12| 923 12 11| 917 1 1| 100.0
R AL B P AR 25 23| 92.0 20 19 95.0 5 4] 80.0
BERG S — AL R P (A SRR 24 22| 91.7 22 22| 100.0 2 0 0.0
TR N 12 11|  91.7 11 11| 100.0 1 0 0.0

(125~1564%)




e ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
BDUNH AL R A 47 43| 91.5 41 37 90.2 6 6| 100.0
KRR B AR P AR 35 32| 91.4 30 30/ 100.0 5 2| 40.0
R =T A AL I o P A A B P 2 £ 45 411 91.1 40 38 95.0 5 3| 60.0
FR LR R AL 72 P A% 22 20| 90.9 16 16| 100.0 6 4] 66.7
L NI NE7h i NE 11 10| 90.9 9 9| 100.0 2 1| 50.0
FH [ A7 2l K 43 39 90.7 37 35| 94.6 6 4| 66.7
B AR R AR AR E 2L 43 39| 90.7 36 35| 97.2 7 4| 57.1
WA FE AL =P A 21 19|  90.5 20 19| 95.0 1 0 0.0
i B AR AL P AR 41 37 90.2 33 31| 93.9 8 6| 75.0
EE AR A% 30 27| 90.0 28 27|  96.4 2 0 0.0
RS YN AP (X R 10 9]  90.0 8 8| 100.0 2 1| 50.0
e AR 10 9  90.0 6 6| 100.0 4 3] 75.0
HE AL IR T R B P L 10 9 90.0 9 9| 100.0 1 0 0.0
P AL S T (R R PR A ek A ) 39 35 89.7 35 33 94.3 4 2 50.0
7 AR R P AR 29 26|  89.7 26 25| 96.2 3 1| 333
Yo IR AR N LR 19 17| 89.5 19 17| 89.5 0 0 0.0
SRR PR ()t Ak LR 2 4R ) 19 17| 89.5 17 16| 94.1 2 1| 50.0
S H R PR 19 17| 89.5 15 14| 93.3 4 3| 75.0
TLF )R BB 720D ZR 1 47 421 89.4 41 38| 92.7 6 4] 66.7
M H AL OR 5 PP 37 33| 89.2 33 32| 97.0 4 1| 25.0
R 18 16/ 88.9 13 13| 100.0 5 3| 60.0
s FE ] s b P AR 17 15| 88.2 16 14| 875 1 1| 100.0
ZIAEREAE AL R P R 23 20( 87.0 18 18| 100.0 5 2| 40.0
2 R A HE ) SRR A () — 2 LT — 1 — ) 15 13 86.7 13 13| 100.0 2 0 0.0
R PR B A A P A2 AR K B AR 22 19| 86.4 20 18] 90.0 2 1| 50.0
DU ] R R 22 19| 86.4 21 18| 85.7 1 1| 100.0
FIRT R - L8 B P 2245 22 19| 86.4 21 191 90.5 1 0 0.0
A AR AL R P AR 14 12|  85.7 13 12| 92.3 1 0 0.0
<BHLEHE AL 2 27 23| 85.2 22 20[  90.9 5 3| 60.0
75 A AR 19 16| 84.2 16 14| 87,5 3 2| 66.7
T BEIAE A PR R 18 15| 83.3 15 14| 933 3 1| 333
B PR m R B AL E R A L 18 15| 83.3 15 14| 93.3 3 1| 33.3

(157~188#)




e ___ " "

TRER| OER| AR | TRE| AEER| AR | ZHREK| ABEK| AtkER
YMCA i FEtEfk 5 P 5245 12 10| 83.3 9 9| 100.0 3 1| 333
FLRR H S R AR AL R AR 12 10 83.3 9 8| 88.9 3 2| 66.7
R M AL E R AL - PR B KA (@il R) 17 14 82.4 16 14 87.5 1 0 0.0
JR AL P A (I @ AR 22 18| 81.8 21 18| 85.7 1 0 0.0
JeREE L R A AL R P AR 22 18| 818 19 16| 84.2 3 2| 66.7
TR T 11 9] 81.8 8 8| 100.0 3 1| 33.3
A RAE R R P 2 11 9] 81.8 11 9| 81.8 0 0 0.0
o NP 3 R A i 11 9| 81.8 10 9] 90.0 1 0 0.0
AR B ML 11 9] 818 11 9| 81.8 0 0 0.0
Tt R e P A 36 29|  80.6 24 22 91.7 12 7| 58.3
1B AR I R P AR 10 8| 80.0 10 8| 80.0 0 0 0.0
DU ] 7 8 K B P A 14 11| 78.6 11 10| 90.9 3 1| 333
RN B R SRt AL B P A 22 171 773 16 16| 100.0 6 1| 16.7
RIRR B RAEH P AL 16 12| 75.0 15 12| 80.0 1 0 0.0
EF AL AR 12 9| 75.0 9 8| 88.9 3 1| 333
PEESY MCAE B AL P L 15 11| 733 13 11| 84.6 2 0 0.0
B VE R B AL R P AR 10 71 70.0 8 6| 75.0 2 1| 50.0
EAGES TR AN E S I = 13 9]  69.2 9 9| 100.0 4 0 0.0

(189~206#%)




(ZBRE 10 AKi)

e ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
TR Y MIC A [ 5 22 R B P 2 9 9| 100.0 9 9| 100.0 0 0 0.0
RELARF 9 9| 100.0 8 8| 100.0 1 1| 100.0
ZZAERRAEAL R P AR B IR 9 9| 100.0 5 5/ 100.0 4 4| 100.0
HUNEI#EZ LB R 2 9 9| 100.0 9 9| 100.0 0 0 0.0
R M AL E AL - PR B KA (FE @A) 9 9 100.0 9 9 100.0 0 0 0.0
SRSV S 9 9| 100.0 9 9| 100.0 0 0 0.0
GV ey N 9 9| 100.0 9 9| 100.0 0 0 0.0
RIS @AY 9 9| 100.0 9 9| 100.0 0 0 0.0
NG| NS 9 9| 100.0 9 9| 100.0 0 0 0.0
JR ey UK 9 9| 100.0 9 9| 100.0 0 0 0.0
~H = TR AL R AL 9 9| 100.0 9 9| 100.0 0 0 0.0
LA N K 9 9| 100.0 9 9| 100.0 0 0 0.0
RYEALVE B =T 2 8 8| 100.0 7 7| 100.0 1 1| 100.0
KRIFUBRTY S R A RS AL R BT 54 R RFR 8 8| 100.0 8 8| 100.0 0 0 0.0
5 =17 B A 8 8| 100.0 7 7| 100.0 1 1| 100.0
HETE R R 8 8| 100.0 8 8| 100.0 0 0 0.0
PRI N IR AR AR AR 7 8 8| 100.0 8 8| 100.0 0 0 0.0
U EFR AR — B 224 8 8| 100.0 8 8| 100.0 0 0 0.0
FLIR & "B it fuk o o =5 PR 2 8 8| 100.0 8 8| 100.0 0 0 0.0
B IER 8 8| 100.0 8 8| 100.0 0 0 0.0
TR AL P AL 8 8| 100.0 6 6| 100.0 2 2| 100.0
HOLRAER 8 8| 100.0 8 8| 100.0 0 0 0.0
R ZE S « BRI - S B P 8 8| 100.0 8 8| 100.0 0 0 0.0
FAAR I A R R P AR 8 8| 100.0 8 8| 100.0 0 0 0.0
TR LA 2 1 AL B P A 8 8| 100.0 7 7| 100.0 1 1| 100.0
EIRE Y R ABUCEALRE T AR 7 7| 100.0 5 5| 100.0 2 2| 100.0
R 25 A A Al R 8 P A A A FE A 7 7| 100.0 7 7| 100.0 0 0 0.0
NS ST PN 7 7| 100.0 6 6| 100.0 1 1| 100.0
E PR ER AL R M R L R 7 7| 100.0 6 6| 100.0 1 1| 100.0
B SN S 7 7| 100.0 6 6| 100.0 1 1| 100.0
SRS R IRV N U 7 7| 100.0 6 6| 100.0 1 1| 100.0
HOR R E AL P AL 7 7| 100.0 7 7| 100.0 0 0 0.0

(1~32%)
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
[ S AR AL R P 2 7 7| 100.0 7 7| 100.0 0 0 0.0
R 7 7| 100.0 7 7| 100.0 0 0 0.0
JEFHR 7 7| 100.0 7 7| 100.0 0 0 0.0
U IESPNES 7 7| 100.0 7 7| 100.0 0 0 0.0
T E R 6 6| 100.0 6 6| 100.0 0 0 0.0
KRIFATR— ERR T H Ak B P 24 6 6| 100.0 6 6| 100.0 0 0 0.0
HERY MCAE B Ak B A 6 6| 100.0 6 6| 100.0 0 0 0.0
DN R ENZ x| AL 6 6| 100.0 6 6| 100.0 0 0 0.0
Ve B 2R R 6 6| 100.0 5 5/ 100.0 1 1| 100.0
BT Y AR 6 6| 100.0 6 6| 100.0 0 0 0.0
8 R AR R 6 6| 100.0 6 6| 100.0 0 0 0.0
SRSy SR NES 6 6| 100.0 6 6| 100.0 0 0 0.0
i LR R 6 6| 100.0 6 6| 100.0 0 0 0.0
TR [ IR A R R P AR 6 6| 100.0 4 4| 100.0 2 2| 100.0
OSJELTeINTr T AT — )1 5 5| 100.0 5 5 100.0 0 0 0.0
RINE R P AL 5 5/ 100.0 5 5| 100.0 0 0 0.0
KB HEAR AL K 2 (Mt & @ dk 52 R 5 5 100.0 5 5 100.0 0 0 0.0
N PR AR R 5 5| 100.0 5 5/ 100.0 0 0 0.0
AR B A B AR 5 5| 100.0 5 5| 100.0 0 0 0.0
WO AR 5 5| 100.0 5 5/ 100.0 0 0 0.0
WAL ST b R 5 5| 100.0 5 5/ 100.0 0 0 0.0
B I EFRE AL P AR 5 5| 100.0 4 4| 100.0 1 1| 100.0
= BRI 5 5| 100.0 5 5| 100.0 0 0 0.0
FEERFIHI R 5 5/ 100.0 5 5| 100.0 0 0 0.0
B E AL ERE L 5 5/ 100.0 5 5| 100.0 0 0 0.0
IR T BRI - B P A A i s 4 4| 100.0 4 4] 100.0 0 0 0.0
KRR T AT — B S A 4 4| 100.0 4 4{ 100.0 0 0 0.0
H R KT 4 4| 100.0 4 4| 100.0 0 0 0.0
BB L2z - K5 4 4| 100.0 4 4| 100.0 0 0 0.0
YAty XA 4 4| 100.0 3 3| 100.0 1 1| 100.0
5N AR R R P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
B2 K 4 4| 100.0 3 3| 100.0 1 1| 100.0

(33~641%)




A, ___ " "

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
R 4 4| 100.0 4 4| 100.0 0 0 0.0
B P22 [ e R A Lo 4 4| 100.0 4 4| 100.0 0 0 0.0
SLATEAE TP 4 4| 100.0 4 4| 100.0 0 0 0.0
EAETHT AR —Y EPRFEEH ML 4 4| 100.0 3 3| 100.0 1 1| 100.0
VU H e fk B P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
AR A R 3 3| 100.0 3 3| 100.0 0 0 0.0
AOT[E B AL B 3 3| 100.0 3 3| 100.0 0 0 0.0
fi] [L RS2 R 3 3| 100.0 3 3| 100.0 0 0 0.0
HETH AR AE R P AR 3 3| 100.0 3 3| 100.0 0 0 0.0
AR S i 3 3| 100.0 3 3| 100.0 0 0 0.0
LN B AL R 3 3| 100.0 3 3| 100.0 0 0 0.0
(G RER NS TR P NE 2 3 3| 100.0 3 3| 100.0 0 0 0.0
bl o NG 3 3| 100.0 3 3| 100.0 0 0 0.0
PRGNl - R AL R E AR 3 3| 100.0 3 3| 100.0 0 0 0.0
AL R K7 3 3| 100.0 3 3| 100.0 0 0 0.0
) IO K (9 (R 27 RO i 70 3 3| 100.0 3 3 100.0 0 0 0.0
o P R AR E R AR 3 3| 100.0 3 3| 100.0 0 0 0.0
V)—Z8H & AR — Y B 5% 3 3| 100.0 3 3| 100.0 0 0 0.0
)T [ 9 S 19 K77 2 2| 100.0 0 0 0.0 2 2| 100.0
BT fE AR R 2 2| 100.0 2 2| 100.0 0 0 0.0
S /ARYANES 2 2| 100.0 2 2| 100.0 0 0 0.0
FHRERKT 2 2| 100.0 2 2| 100.0 0 0 0.0
EMESPSEPNES 2 2| 100.0 2 2| 100.0 0 0 0.0
AL S I TE R AL P AR 2 2| 100.0 0 0 0.0 2 2| 100.0
B OUERALF T 2 2| 100.0 2 2| 100.0 0 0 0.0
WA A E R 2 2| 100.0 2 2| 100.0 0 0 0.0
S o ] S PR Tt AL B P A 2 2| 100.0 2 2| 100.0 0 0 0.0
B IE LR 2 2| 100.0 2 2| 100.0 0 0 0.0
IR AR ALY 2748 (st a7 1 1| 100.0 1 1| 100.0 0 0 0.0
KRBT RS 1 1| 100.0 0 0 0.0 1 1| 100.0
REARYMCAS:P 1 1| 100.0 0 0 0.0 1 1| 100.0
ORI AL (SR AL 1 1| 100.0 0 0 0.0 1 1| 100.0

(65~964%)
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TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak
SR AR P R 1 1| 100.0 0 0 0.0 1 1| 100.0
BB R 1 1| 100.0 0 0 0.0 1 1| 100.0
BRI EFR IR E O R A A 1 1| 100.0 1 1| 100.0 0 0 0.0
G B ES LR 1 1| 100.0 1 1| 100.0 0 0 0.0
B AR R Ty 1 1| 100.0 1 1| 100.0 0 0 0.0
PR 7 57 P 2 52 (fl B P AR AR A r ) 1 1l 100.0 0 0 0.0 1 1l 100.0
H AR P () — L 7 ) 1 1| 100.0 0 0 0.0 1 1| 100.0
I\ BT B i S R R 1 1| 100.0 0 0 0.0 1 1| 100.0
e LA ik B P A 1 1| 100.0 0 0 0.0 1 1| 100.0
KA B AP A 1 1| 100.0 0 0 0.0 1 1| 100.0
VIR 2 O\ A R A T i ) 1 1| 100.0 0 0 0.0 1 1| 100.0
[P NE S 52 N 9 8| 88.9 9 8| 88.9 0 0 0.0
BT LoD 9 8| 88.9 6 6| 100.0 3 2| 66.7
TR AL A B 2 (3l L7 8 7| 87.5 8 7| 875 0 0 0.0
HOE AR B BP9 A 7 6| 85.7 6 6| 100.0 1 0 0.0
HILN LR 7 7 6| 85.7 5 5/ 100.0 2 1| 50.0
HA 227 8 S AR 7 6| 85.7 6 5/ 83.3 1 1| 100.0
GUYSRE SIS ER PR PN S 7 6| 85.7 6 6| 100.0 1 0 0.0
WA 7 4 AT — 7[5 R P A 5 4] 80.0 4 4{ 100.0 1 0 0.0
LR RS 9 7| 77.8 9 71 77.8 0 0 0.0
S<HIRE B AR 4 3| 75.0 4 3] 75.0 0 0 0.0
BrEaT LY 4 3| 75.0 3 3| 100.0 1 0 0.0
BT E B AL T L > Y 6 4| 66.7 4 3| 75.0 2 1| 50.0
AL AL R B P AR 6 4| 66.7 4 4| 100.0 2 0 0.0
INT R T N 3 2| 66.7 0 0 0.0 3 2| 66.7
R A E R MR 3 2| 66.7 0 0 0.0 3 2| 66.7
JUIN KRB FLIAR 5 (AL FE) 6 3| 50.0 3 3| 100.0 3 0 0.0
1% U7 ERRAER AL B 4 2| 50.0 1 1| 100.0 3 1| 33.3
FEIS /= AR AR UL R P A (T AR R 4 2 50.0 3 2 66.7 1 0 0.0
HRCHE LR o (A AR 34 ) 4 2| 50.0 0 0 0.0 4 2| 50.0
iR IPNET TR N 2 0 0.0 0 0 0.0 2 0 0.0
B TR R0 1 0 0.0 0 0 0.0 1 0 0.0

(97~128#%)




e = " "
STRE| OHER| AR | ZREK| Ak E K| AR |ZREK| AkE R AR
RIS AE AL RE A K P 1 0 0.0 0 0 0.0 1 0 0.0
LI A o B PR AR 1 0 0.0 0 0 0.0 1 0 0.0
TR AR A B P 1 0 0.0 1 0 0.0 0 0 0.0
N B T ERR T R AR 1 0 0.0 0 0 0.0 1 0 0.0
(129~1321%)

(&)

3t 4,708 4,463| 94.8| 4,333| 4,215 97.3] 375 248 66.1

(3381%)



55 3 5 [l fpk - [E SRR i s S R (B ERIA)

OERIER L — (B 2EZERE)

(7| XA EE (SR4E4H 1RSS5 M4E3H31H £ T)
T3 RIABDE ., [BEZ] 1IREE (GRM4FE3H3IH) FTIAEUET) LEETH S,

(B2 B | IR B INEFE TH D IR CERERNEZEThHoT-ETH 5,

(

TRIEET) LB XIAREWET)

(ZBRE10ALLE]
et R o _
ZERHR| OB DRER | ZRER| ARER| AR | ZREKR| AkE%R| AR
R B A AR AL P A K E AR 14 14| 100.0 14 14| 100.0 0 0 0.0
H SR A Ak e — 2 N L B P A 13 13| 100.0 12 12| 100.0 1 1| 100.0
GUYGRE SIS ERp S iPNE S 11 11| 100.0 11 11| 100.0 0 0 0.0
HURYMCA B @ AL R 7 17 16|  94.1 10 9  90.0 7 7| 100.0
P ER 14 13 92.9 14 13| 92.9 0 0 0.0
HE PR IR 12 11| 91.7 5 5/ 100.0 7 6| 85.7
TERAANHR A BT A 12 11| 91.7 12 11|  91.7 0 0 0.0
RIFR T R AR Al 5 P A A o A 38 34| 89.5 30 29| 96.7 8 5|  62.5
FUM R AT T — a2 15 13| 86.7 13 11| 84.6 2 2| 100.0
Z% BAE R T 14 12| 85.7 10 9  90.0 4 3| 75.0
SR AR AL IR B S P PR 14 12| 85.7 8 6| 75.0 6 6| 100.0
R R T Y A R 38 32| 84.2 29 26| 89.7 9 6| 66.7
RN =[] B R AL R P AR 23 19| 82.6 20 17| 85.0 3 2| 66.7
FER (LY MCA [E B Ak 3 P 4% 23 19| 826 16 15| 93.8 7 4| 57.1
B, HH R o P 2 17 13| 76.5 12 10 83.3 5 3] 60.0
fi] L1 [ A Ak B P A 12 9| 175.0 10 8| 80.0 2 1| 50.0
PEFER AR B S R 27 20  74.1 24 17| 70.8 3 3| 100.0
R BN AT R RS (G AR 15 11| 73.3 15 11| 733 0 0 0.0
VA A B P AR 15 11| 733 7 7| 100.0 8 4] 50.0
[Pl 58 N 48 35 72,9 33 26| 78.8 15 9]  60.0
i VR IR AL R P AR 18 13| 72.2 12 10 83.3 6 3 50.0
WL 36 25| 69.4 25 17| 68.0 11 8|  72.7
BDEAL 30 20|  66.7 22 171 77.3 8 3| 375
FORASR R AR AR B S P 21 14| 66.7 16 11| 688 5 3 60.0
SR A1 3 e kR P AR 15 10|  66.7 15 10|  66.7 0 0 0.0
R AR AL B (S R ) 58 38|  65.5 45 30|  66.7 13 8| 61.5
BN AL R 26 17| 65.4 25 16|  64.0 1 1| 100.0
OULT T AL R AL 17 11| 64.7 11 6| 54.5 6 5| 83.3

(1~281%)




ek i — *f%;ﬁz ___ %ﬁ%) ___ E%¢

TRER| OB SR | RE | Ak E k| AR | ZRE | akE k| Ak
BAVE PR B AR AL P A 25 16|  64.0 12 7| 58.3 13 9]  69.2
KIRAI 2 =T 4T — B — B AL 49 31|  63.3 35 24|  68.6 14 7| 50.0
EXIS) PN 31 19| 61.3 23 12|  52.2 8 7| 875
FORALOR T B P A 31 18| 58.1 16 13| 81.3 15 5/ 33.3
BVt g Ak B P A 50 29| 58.0 36 18| 50.0 14 11| 78.6
FE P S A i [ PSR R R L 16 9| 56.3 8 6| 75.0 8 3| 375
B EfE LR E PR S 11 6| 54.5 6 4| 66.7 5 2| 40.0
A EFRAE AL R A 23 12| 52.2 15 10|  66.7 8 2| 25.0
B BERERY 2 VT — AT — L 66 33| 50.0 66 33| 50.0 0 0 0.0
BB P2 (S stk 24 ) 60 30| 50.0 35 26| 743 25 4| 16.0
MBI AEY T — 2 a Aa ke 16 8| 50.0 7 7| 100.0 9 1 11.1
VAR YT — S a Ak B P A 16 8| 50.0 8 4| 50.0 8 4| 50.0
R P A Ak TR R P 2 FEL A 31 15|  48.4 13 12| 92.3 18 3| 16.7
PN AU LS O TR ey 47 22| 46.8 45 20| 44.4 2 2| 100.0
IR ERZESHFAR 15 7| 46.7 12 6| 50.0 3 1| 33.3
P Lo [ B S P AR 24 11| 458 18 7| 38.9 6 4| 66.7
TR AL P L 11 5|  45.5 11 5 45.5 0 0 0.0
Al KB e kB P A 20 9| 45.0 14 71 50.0 6 2| 33.3
PR AR 286 8 P (Bl P AR A S 2 ) 18 8 44.4 16 7 43.8 2 1 50.0
SRSy Th N 37 16|  43.2 25 10|  40.0 12 6| 50.0
TAES S fE LR AL 19 8| 42.1 10 5/ 50.0 9 3] 33.3
NEE & S5 Rt Ak B P A 12 5 41.7 9 3| 33.3 3 2| 66.7
o L AR AR AL P 2 34 14| 41.2 29 12|  41.4 5 2| 40.0
YMCASEFE AL AL 17 7| 41.2 9 4| 44.4 8 3| 375
B e~ =T R AL KSR 23 9]  39.1 14 7| 50.0 9 2| 22.2
AOIHE B-EAL T 71 42 16| 38.1 34 10|  29.4 8 6| 75.0
JB) 1@ AR RS A 29 11| 37.9 25 10| 40.0 4 1| 25.0
PN T aREs R AL 68 25 36.8 40 15| 37.5 28 10 35.7
=R BT EAL T R e 72 26  36.1 57 24 42.1 15 2| 13.3
B R AL R B S P 28 10| 35.7 14 8| 57.1 14 2| 14.3
PRSI L Y O ik SR 7R 39 13| 33.3 36 12| 333 3 1| 333
TR i [ e B P AR 21 7| 33.3 17 6| 35.3 4 1| 25.0

(29~60#%)




AR, —

TRER| OB SR | RE | Ak E k| AR | ZRE | akE k| Ak
FREF @ ALEE R 12 4| 333 11 4| 36.4 1 0 0.0
N TNE T8 Nt 67 22| 328 51 19| 37.3 16 3| 18.8
T )R B 3670 D ZR T 248 32 10 313 23 7| 30.4 9 3] 33.3
BRREA T 4 AT — 7 SRR P 52 16| 308 27 12| 44.4 25 4| 16.0
L2 N ARS8 (R 49 15| 30.6 37 13| 35.1 12 2| 16.7
PRE i - VR AL R 30 9]  30.0 19 6| 31.6 11 3| 273
(R R NG 44 13| 29.5 26 5/ 19.2 18 8| 44.4
Hi AN AR Ak B 224 14 4] 28.6 14 4| 28.6 0 0 0.0
B AR TE R R P A 32 9| 28.1 14 6| 42.9 18 3| 16.7
B AR B P 2 50 14|  28.0 15 7| 46.7 35 7| 20.0
N7 FI AL 35 9] 25.7 35 9| 25.7 0 0 0.0
TR L S @ AL P A% 47 12| 255 37 71 18.9 10 5/ 50.0
ZIAEFEALRE AL 39 9| 23.1 33 6| 18.2 6 3| 50.0
It AR AR P AR 61 14| 23.0 28 7| 25.0 33 71 21.2
DU H e AR P A 57 13| 22.8 30 11 36.7 27 2 7.4
Y@ML R AR 18 4| 22.2 17 4| 235 1 0 0.0
[EREE:N R ibNe2 48 10|  20.8 34 71 20.6 14 3| 21.4
MR LR T P R R 19 3| 15.8 19 3| 15.8 0 0 0.0
i AL H R 26 4| 154 17 1 5.9 9 3| 33.3
HARZ S S @ ALR AR 26 4| 154 26 4| 154 0 0 0.0
JUIN EFRAR — Y BEFH A% 96 14| 14.6 41 9] 22.0 55 5 9.1
S<HIRE BT AL 42 6| 14.3 35 6| 17.1 7 0 0.0
eI il i 21 3| 14.3 14 1 7.1 7 2| 28.6
KRB e HE AL AR 5 (A S L ) 18 2| 111 16 1 6.3 2 1| 50.0
JE I R S P R e P A 10 1| 10.0 6 0 0.0 4 1| 25.0
R EF K7 22 2 9.1 9 2| 22.2 13 0 0.0
ZZABEFREAL TP R A IR 11 1 9.1 9 0 0.0 2 1| 50.0
HE AL AR AR P AR 31 2 6.5 13 1 7.7 18 1 5.6
BRME [E BRI E O R AR P AL 20 1 5.0 20 1 5.0 0 0 0.0
B RO E B E AL Ly 34 1 2.9 28 1 3.6 6 0 0.0

(61~90#%)




(ZBRE 10 ARHH)
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TRER| OB SR | RE | Ak E k| AR | ZRE | akE k| Ak
PR [ AR AR AL R PR A T e 8 8| 100.0 6 6| 100.0 2 2| 100.0
B2 W e R ALY 8 8| 100.0 5 5/ 100.0 3 3| 100.0
Bk A 8 8| 100.0 4 4| 100.0 4 4| 100.0
KNG et kR A% 7 7| 100.0 6 6| 100.0 1 1| 100.0
HIT R 8 A P 7 P AR 7 7| 100.0 6 6| 100.0 1 1| 100.0
TR H SR AR AL R P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
[EHIE IR TE e 5 5| 100.0 4 4| 100.0 1 1| 100.0
AbfE Y R AR R 5 5| 100.0 5 5| 100.0 0 0 0.0
SBUE AR HEEE P AR 4 4| 100.0 2 2| 100.0 2 2| 100.0
)t 7o B T R Ak e P A 4 4| 100.0 3 3| 100.0 1 1| 100.0
AR TR R 3 3| 100.0 3 3| 100.0 0 0 0.0
EPRE Y R ABCARAE R 3 3| 100.0 0 0 0.0 3 3| 100.0
RGP AR T i R P 2 T3 3 3| 100.0 3 3| 100.0 0 0 0.0
IR A R o0 3 3| 100.0 3 3| 100.0 0 0 0.0
V)—Z 8 & AR—YV B 7L 3 3| 100.0 3 3| 100.0 0 0 0.0
IGL = kB A% 2 2| 100.0 2 2| 100.0 0 0 0.0
VNS & AR AL R P A 2 2| 100.0 2 2| 100.0 0 0 0.0
A E Y MCAF B B e Ak B 22 2 2| 100.0 2 2| 100.0 0 0 0.0
T 1 7 X — B A 2 2| 100.0 2 2| 100.0 0 0 0.0
B @M P AR 2 2| 100.0 2 2| 100.0 0 0 0.0
FLIGR = 2 Al Al B B AR 2 2| 100.0 2 2| 100.0 0 0 0.0
DU [E] A AP R0 2 2| 100.0 2 2| 100.0 0 0 0.0
BN A E VR AN L v 2 2| 100.0 2 2| 100.0 0 0 0.0
I\ BE R P R 5 2 2| 100.0 1 1| 100.0 1 1| 100.0
FAAS B AR AL RE P AR 2 2| 100.0 2 2| 100.0 0 0 0.0
R R AL & B L oY 1 1| 100.0 0 0 0.0 1 1| 100.0
RIS B AL 27K (AL R B2 ) 1 1| 100.0 0 0 0.0 1 1| 100.0
FUAR B SRR AR AL R P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
TEET R AR 1 1| 100.0 1 1| 100.0 0 0 0.0
ES[ENS - o S AR N 1 1| 100.0 1 1| 100.0 0 0 0.0
[ BRI PR AL R PR AR 1 1| 100.0 0 0 0.0 1 1| 100.0
ES[ENVS SN = 1 1| 100.0 1 1| 100.0 0 0 0.0

(1~32#%)




ek i — f%;ﬂz ___ %ﬁ%) ___ E)Mi

TRER| OB SR | RE | Ak E k| AR | ZRE | akE k| Ak
i) 1A S R A R P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
LoD I fm ik B A% 1 1| 100.0 0 0 0.0 1 1| 100.0
15PN AT — 7 [ Ji fm b o P A 1 1| 100.0 1 1| 100.0 0 0 0.0
Al R B AR AL B P A 1 1| 100.0 0 0 0.0 1 1| 100.0
HOEHER T 1 1| 100.0 1 1| 100.0 0 0 0.0
Rl EBRR 1 1| 100.0 1 1| 100.0 0 0 0.0
NG| 1 1| 100.0 1 1| 100.0 0 0 0.0
e AT S AR AL R P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
AR @ ML R AR 8 7| 87.5 7 6| 85.7 1 1| 100.0
ey YART 7 — R e L A A 7 6| 85.7 6 6| 100.0 1 0 0.0
N =T A AL I b A R P A 7 6| 85.7 7 6| 85.7 0 0 0.0
T AR AR P A 6 5/ 83.3 6 5/ 83.3 0 0 0.0
R PR RE fE k- R KPR (It k) 6 5 83.3 4 41 100.0 2 1 50.0
T @A R B IR R AR 6 5/ 83.3 1 0 0.0 5 5| 100.0
AT 2 @ = P AR 6 5| 83.3 4 4| 100.0 2 1| 50.0
R SRR P 5 4] 80.0 0 0 0.0 5 4| 80.0
HUNEITH#EZE BB AL A 5 4] 80.0 2 2| 100.0 3 2| 66.7
SR RN R A 2B L TR 8 6| 75.0 7 5| 714 1 1| 100.0
R 1L R FRE Rk o P A 7 5| 71.4 6 4| 66.7 1 1| 100.0
BHER AL ERE LR B AR 7 5| 71.4 5 3 60.0 2 2| 100.0
A ERE MR B AR 7 5| 71.4 0 0 0.0 7 5| 71.4
L) 13 B A T P S5 25 ) 1 /82 6 4| 66.7 1 1| 100.0 5 3| 60.0
R R R B A kB A 3 2| 66.7 2 2| 100.0 1 0 0.0
T R P 2 (S A A ) 3 2| 66.7 2 1| 50.0 1 1| 100.0
(SN EAR AL R P A 3 2| 66.7 3 2| 66.7 0 0 0.0
FUN R FELHIR S (R F) 5 3| 60.0 5 3| 60.0 0 0 0.0
i PR AR AL AT — > B 22 5 3| 60.0 3 3| 100.0 2 0 0.0
B R Y 9 5| 55.6 9 5/ 55.6 0 0 0.0
RRZEGEALAL Y 9 5| 55.6 9 5/ 55.6 0 0 0.0
IR RALER L oY 9 5| 55.6 5 5| 100.0 4 0 0.0
At B L R 6 3| 50.0 4 2| 50.0 2 1| 50.0
HEL B R 4 2| 50.0 3 2| 66.7 1 0 0.0

(33~644%)
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TRER| OB SR | RE | Ak E k| AR | ZRE | akE k| Ak
JER Bt P R (S Al 4 2| 50.0 0 0 0.0 4 2| 50.0
JEB Y B 2 LR 2 1| 50.0 1 1| 100.0 1 0 0.0
O [E B @ AL P A 2 1| 50.0 0 0 0.0 2 1| 50.0
FORRALR P20 (st kLR 34 2 1| 50.0 0 0 0.0 2 1| 50.0
S SY TR P NE S 2 1| 50.0 1 1| 100.0 1 0 0.0
e [ B AL 2 P AR 9 4] 44.4 3 2| 66.7 6 2| 33.3
S WA EAE ML AL 7 3| 42.9 1 0 0.0 6 3 50.0
L 2 [ A B0 R s 5 2| 40.0 4 1| 25.0 1 1| 100.0
e [ I A SR R 5 2| 40.0 0 0 0.0 5 2| 40.0
B A R S MR T L Y 8 3| 37.5 6 3 50.0 2 0 0.0
FABY MC A [ B Ak 5 P 7 9 3| 33.3 8 3| 375 1 0 0.0
RS/ S— AR AL PR (AR 6 2| 33.3 2 2| 100.0 4 0 0.0
KRR AL A (HLRHR & A TSR 3 1| 333 2 0 0.0 1 1| 100.0
LB rfr B FE R AR 3 1| 33.3 0 0 0.0 3 1| 333
M AT R AL R AR 3 1| 33.3 0 0 0.0 3 1| 333
H A b R S AR 3 1| 33.3 0 0 0.0 3 1| 333
Aty R R AR AL P A 3 1| 333 3 1| 333 0 0 0.0
PRI N — AN E R R AL R P 2R 3 1| 333 1 0 0.0 2 1| 50.0
YICH #fm kB A% 3 1| 33.3 3 1| 333 0 0 0.0
iR PN R et 4 1| 25.0 0 0 0.0 4 1| 25.0
Vel 1 AR R R 4 1| 250 3 1| 333 1 0 0.0
N H T R R A P A 4 1| 25.0 0 0 0.0 4 1| 25.0
HORU LB SR B AR AL S P A 7 1| 14.3 6 1| 16.7 1 0 0.0
R 2@ AL A% 9 1l 111 7 0 0.0 2 1| 50.0
HUN AR 9 1| 111 5 0 0.0 4 1| 25.0
A5 =) R A 5 0 0.0 0 0 0.0 5 0 0.0
E IR B R AL R P A 5 0 0.0 4 0 0.0 1 0 0.0
Hy= T hL oy 3 0 0.0 3 0 0.0 0 0 0.0
1% U7 ERRAR AL R 2 0 0.0 2 0 0.0 0 0 0.0
AR SRR AL R P AR 2 0 0.0 1 0 0.0 1 0 0.0
RIFAR = [ FR R T Rk P A 1 0 0.0 0 0 0.0 1 0 0.0
F)NHEHR 1 0 0.0 0 0 0.0 1 0 0.0

(65~96#%)




- ok e [ A
TR %%%ﬁé%i@ Ak %%ﬁ@e;;ﬁ B &%ﬁﬁéﬁ%& Ak
ANVVAN R RE A R i) 1 0 0.0 0 0 0.0 1 0 0.0
EhPNES 1 0 0.0 1 0 0.0 0 0 0.0
(97~981%)

(A&
3t 3,076| 1,425 46.3| 2,151| 1,083 50.3] 925 342 37.0

(188%%)



55 3 5 iRk EERBRE LR SR a kR (SR =RIE)
OFALRERL— b (EBA0LFE 2HBEAT ITHET 2R EFRE)

CET2E ] I35 4EE (BT4AEAHIE NS SFGESHSIAET) ICAREUET) LA XITREUET)
T RIAHDE, [BERE] (IREE (5F44E3H31H) £TIAEUET) LEETH D,

(ZBRAE10ALLE]
Bt A, B B B 2

TRER| ORER| AR | ZREK| OB AR |ZRER| AREKR| Ak
K53 B SR 69 69| 100.0 68 68| 100.0 1 1| 100.0
7 7)1 I8 i 2 AR 40 40| 100.0 38 38| 100.0 2 2| 100.0
PR 51 S AR 39 39/ 100.0 39 39/ 100.0 0 0 0.0
ERETECE 2i 37 37| 100.0 36 36| 100.0 1 1| 100.0
PR A RS 8 2 AR 36 36 100.0 36 36| 100.0 0 0 0.0
TEPE R E TR 36 36 100.0 36 36| 100.0 0 0 0.0
T AR 35 35| 100.0 35 35| 100.0 0 0 0.0
BB G 35 35 100.0 35 35| 100.0 0 0 0.0
RIERE 3 AR 34 34| 100.0 34 34| 100.0 0 0 0.0
FH AR 15 S22 34 34 100.0 34 34| 100.0 0 0 0.0
(L1320 i e 33 33| 100.0 33 33| 100.0 0 0 0.0
e B RN v S R 31 31{ 100.0 30 30/ 100.0 1 1| 100.0
rEn A T AR 30 30[ 100.0 30 30| 100.0 0 0 0.0
FEmH R 30 30{ 100.0 30 30/ 100.0 0 0 0.0
A2 b B 29 29 100.0 29 29 100.0 0 0 0.0
5 88 B v B AR 29 29 100.0 29 29 100.0 0 0 0.0
BERF AL M iR 28 28| 100.0 28 28| 100.0 0 0 0.0
PN THE e 27 27| 100.0 24 24| 100.0 3 3| 100.0
7N BB P e R A 26 26 100.0 22 22 100.0 4 4| 100.0
B BF 1 S AR 22 22 100.0 22 22 100.0 0 0 0.0
MRt B35 55 T 1R S R 22 22 100.0 22 22 100.0 0 0 0.0
15 Ui A e 5 22 22 100.0 22 22 100.0 0 0 0.0
KA e 1 S A 21 21 100.0 21 21 100.0 0 0 0.0
FRETE B i AR 20 20( 100.0 20 20[ 100.0 0 0 0.0
JEVJE i S AR 20 20[ 100.0 17 17| 100.0 3 3| 100.0
HEA 5 S5 71 20 20( 100.0 18 18| 100.0 2 2| 100.0
AT T mEFR 19 19| 100.0 19 19| 100.0 0 0 0.0
[CENCE Ty 19 19| 100.0 19 19| 100.0 0 0 0.0

(1~281%)




oy 0S4 B B2

TRER| ORER| AR | ZREK| OB AR | ZRER| AREKR| Ak

W A i v AR 18 18| 100.0 18 18| 100.0 0 0 0.0
FolR R 18 18| 100.0 18 18| 100.0 0 0 0.0
FH K HR e i A A 17 17| 100.0 15 15| 100.0 2 2| 100.0
BRBREA Rl 5 R 17 17| 100.0 15 15| 100.0 2 2| 100.0
B 5 e S5 16 16/ 100.0 13 13| 100.0 3 3| 100.0
P18 3 A 16 16| 100.0 12 12| 100.0 4 4| 100.0
SRR B i 16 16/ 100.0 16 16| 100.0 0 0 0.0
BP R R SR 15 15| 100.0 14 14| 100.0 1 1| 100.0
Fhem R R 14 14| 100.0 14 14| 100.0 0 0 0.0
(e 13 13| 100.0 13 13| 100.0 0 0 0.0
F R AR 13 13| 100.0 13 13| 100.0 0 0 0.0
BB i AR 13 13| 100.0 11 11| 100.0 2 2| 100.0
Fikdb B mE 7K 12 12| 100.0 12 12| 100.0 0 0 0.0
Ry W = % L 11 11| 100.0 10 10| 100.0 1 1| 100.0
TTREE ST 11 11| 100.0 10 10| 100.0 1 1| 100.0
It E T i A AR 11 11| 100.0 9 9| 100.0 2 2| 100.0
A H R 10 10| 100.0 7 7| 100.0 3 3| 100.0
e P P i R AR 10 10| 100.0 9 9| 100.0 1 1| 100.0
HA 227 18 S AR 10 10| 100.0 10 10| 100.0 0 0 0.0
SELAIIE i 10 10| 100.0 10 10| 100.0 0 0 0.0
IR RS 18 AR 38 37 974 37 36|  97.3 1 1| 100.0
BRI EE TR 34 33 97.1 33 33| 100.0 1 0 0.0
AR AR Ak i S A 27 26|  96.3 25 24| 96.0 2 2| 100.0
(o] 2z - i S AR 25 24 96.0 21 21| 100.0 4 3] 75.0
L] b i S AR 22 21|  95.5 20 20( 100.0 2 1| 50.0
(P Bl B G v 5 A 21 20/ 95.2 21 20/ 95.2 0 0 0.0
Se i R IR ZE IS /T e 5 AR 21 20 95.2 16 16| 100.0 5 4| 80.0
AR R 20 19]  95.0 13 12| 92.3 7 7| 100.0
H R IR TE R AR 18 17 94.4 16 16| 100.0 2 1| 50.0
TAME 5 B AR 33 31 93.9 29 28|  96.6 4 3| 75.0
T 1) 5 v S AL 32 30  93.8 31 29|  93.5 1 1| 100.0
R i A R 16 15| 93.8 12 12| 100.0 4 3| 75.0

(29~60#%)
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(61~92#%)

1
3
7
9
2
8
14
4
10
9
13
12
10

100.0
96.3
100.0
100.0
100.0
91.7
95.0
100.0
94.4
96.8
90.0
100.0
89.5
89.7
94.4
93.3
96.4
93.8
89.5
97.0
100.0
100.0
89.5
96.3
100.0
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95.8
94.7
94.7
80.0
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26
12
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54.5
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(93~98#%)



(ZBRE 10 AKi)

Bk, B B B 2
TRRER| OB AR | TSR OBEK| AR | 2hE k| akEk| Atk
BP)IREE i 9 9| 100.0 8 8| 100.0 1 1| 100.0
B B i S5 2P 7 7| 100.0 7 7| 100.0 0 0 0.0
IRAL B SR 7 7| 100.0 6 6| 100.0 1 1| 100.0
LR & S A (R SR 7 7| 100.0 7 7| 100.0 0 0 0.0
R F TR 6 6| 100.0 6 6| 100.0 0 0 0.0
AEHEIE & 7 0 AR 6 6| 100.0 6 6| 100.0 0 0 0.0
ACE B T 1 S L 6 6| 100.0 5 5| 100.0 1 1| 100.0
IEIYENCTHE =2 C e sy 4 4| 100.0 4 4| 100.0 0 0 0.0
Eroplity - Qi 3y 3 3| 100.0 3 3| 100.0 0 0 0.0
T I v o R 2 2| 100.0 1 1| 100.0 1 1| 100.0
FH 2B i 2 AR 1 1| 100.0 0 0 0.0 1 1| 100.0
R I 155 il e S A 1 1| 100.0 0 0 0.0 1 1| 100.0
B L AR 1 1| 100.0 0 0 0.0 1 1| 100.0
FUARBE A 2V ) AR 4 3| 75.0 0 0 0.0 4 3] 75.0
Fr % BE LR R R 6 4| 66.7 4 4| 100.0 2 0 0.0
HBIR = AL 6 4] 66.7 4 3] 75.0 2 1| 50.0
FREEEFK 5 3| 60.0 4 3] 75.0 1 0 0.0
B LA i 3 1| 333 0 0 0.0 3 1| 33.3
TN 1 S R 1 0 0.0 0 0 0.0 1 0 0.0
JEIRBE K Jo i 5 A% 1 0 0.0 0 0 0.0 1 0 0.0
(1~20%%)

(&&T)
3t 2,480| 2,322| 93.6] 2,169 2,109 97.2] 311] 213 68.5

(1181%)




